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QUESTION 1

The legacy program for sending files to the printer queues from the command line is which of the following? 

A. lpd 

B. lpr 

C. lpq 

D. lpp 

Correct Answer: B 

 

QUESTION 2

In the following command and its output, echo $$ 12942 which of the following is 12942? 

A. The process ID of the echo command. 

B. The process ID of the current shell. 

C. The process ID of the last command executed. 

D. The process ID of the last backgrounded command. 

Correct Answer: B 

 

QUESTION 3

Which of the following outputs will the command seq 10 produce? 

A. A continuous stream of numbers increasing in increments of 10 until stopped. 

B. The numbers 1 through 10 with one number per line. 

C. The numbers 0 though 9 with one number per line. 

D. The number 10 to standard output. 

Correct Answer: B 

 

QUESTION 4

Which of the following is the BEST way to temporarily suspend a user\\'s ability to interactively login? 

A. Changing the user\\'s UID. 

B. Changing the user\\'s password. 
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C. Changing the user\\'s shell to /bin/false. 

D. Removing the user\\'s entry in /etc/passwd. 

E. Placing the command logout in the user\\'s profile. 

Correct Answer: C 

 

QUESTION 5

An administrator is configuring a secured webserver, however connecting to https://127.0.0.1 is not working. The
administrator runs netstat -ntl, which returns the following output: tcp 0 0 0.0.0.0:80 0.0.0.0:* LISTEN What port should
be listening before a successful connection is possible? (Provide only the numerical value of the port). 

Correct Answer: Answer: 443 
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